Macha Girls Secondary School                                                                                 Mr. Kubach


Name:___________________________________            

Macha Girls Secondary School

Mathematics End Year Exam

                                                   Term 3 2009

     Grade 11.9 & 11.12

Paper 1                                26.11.2009       
Write your complete name in the space on top of this page.

During this paper you are only allowed to use a pen, a pencil, a rough paper, a ruler and a calculator. 

Answer all questions.

Write your answers in the spaces provided on the question paper.

If working is needed for any question, show it in the space below that question.

Obmission of essential working will result in loss of marks.

The number of marks is given in brackets [ ] at the end of each question or part question. The total amount of marks that can be arrived is 45.
Concentrate and all the best!

1. A sum of money was divided between three people. Agness received 
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of the money. Hellen receive
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of  the money. Rachel receives the remainder.

a) Hellen received K10000. How much did Agness receive?

b) What fraction of the money did Rachel receive?

                                                                               Answer  a)   K_____________________[1]

                                                                                             b)    ______________________[1]                         

2. Write down the next two terms in the sequence

a) 12, 11, 9, 6, …………

b) 2, 6, 18, 54, …………

                                                                               Answer  a) __________,_____________[1]

                                                                                             b) __________,_____________[1]

3. If 2 men can dig a well in 3 days, how many more men are needed if work is to be completed in 2 days 

                                                                         Answer _________________________[2]

4.  Triangle ABC is given with CÂB=90°. P devides AB  into two parts, such that AP is to PB in the ratio 3:1. PB = 2cm. BC = 10cm.

                                                                      a) find the length of AC

         C                                                          b) find the area of triangle ABC


          A                              P    2cm    B

                                                                                        Answer  a)___________________[2]

                                                                                                      b)___________________[1]

5. Factorise:

a) –4t³+12t

b) 20rc-4rd-15tc+3td 

                                                                                      Answer  a)____________________[1]

                                                                                                    b)____________________[1]

6. R, S, Q are points on the circle. The circle has a circumference of 25.13cm.

RS is to ST in the ratio of 3.5:2. QS = 3.87cm

                                                                   a) find the diameter of the circle    

                                                                   b) find the area of the cricle RSQ 

                                                                   c) find the area of triangle RTQ

                                                                   d) find angle (QST

                                                                   e) find length of ST

                                                                   f) find the area of triangle QTR

R                     O                       Q

                                S

                                                 T

                                                                                     Answers  a)_____________________[1]               

                                                                                                     b)_____________________[1]

                                                                                                     c)_____________________[2]

                                                                                                     d)_____________________[1]

                                                                                                     e)_____________________[1]

                                                                                                     f)_____________________[1]

7.                                                 y
                                                                                            


                     P(-3,6)    __                            h : 2y=x+8      ​​


                                                        R


                                                                                                       x

                                                                          g

a) At which point does h intersect the x-axis? 

b) At which point does h intersect the y-axis?                                                                              

c) Give the equation of g (passes through 0).

d) Give the three inequations which define the shaded area R.

                                                                                                   Answer:  a)______________[1]

                                                                                                                   b)______________[1]

                                                                                                                   c)______________[2]

                                                                                                                   d)________________

                                                                                                                      ________________  

                                                                                                                      ______________[2]

8. The matrix A = 
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Calculate

a) the value of the determinant of A,

b) the inverse of A,

c) AA
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                                                                                   Answer a)_______________________[1]

                                                                                                b)          
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                                                                                                c)          
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9. Given that 
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 find, expressing each answer in standart form, the value of

a) ab,
b) a+b,
c) 
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                                                                                           Answer: a) __________________[1]

                                                                                                         b) __________________ [1]

                                                                                                         c) __________________ [1]

10. Solve the simultaneous equations
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                                                                   Answer     
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11. In the diagram the straight line ABC is parallel to DE and BD is parallel to CF. 

      AD = BD, ( DBC = 110° and ( FED = 45°

 A                                B                C

                                                

                                   110°     Y°                                         Calculate 

 

                                             F   Z°                                        a)  X

                                                                                              b)  Y

                                                                                              c)  Z

                          X°                                     45°             


                   D                                            E

                                                                                      Answer  a) X = _____________ [1]

                                                                                                    b) Y = _____________ [1]

                                                                                                    c) Z = ______________[1]

12. Given that 
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                                                                                      Answer  a)  
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13. Round off the following numbers to 2 significant figures.

a) 0.07056

b) 9999                                                     Answer  a) _____________________[1]

                                                                                                   b) _____________________[1]                             

14. The figure ABCDEF is given, such that ABC is parallel to DEF. FD = 7cm, DE = 4cm, AC = 10cm and CE = 4.47cm. 

            A

                                                                                  a) find the perimeter of the triangle CDE

                                                                                  b) find the area of ACEF

                                                                                  c) find AF giving your answer rounded                 

            B                       F                                               off to two decimal place.

                                     

                                     E

            C                      D

                                                                                        Answer:  a) ___________________[2]

                                                                                                 b) ___________________[1]

                                                                                                       c) ___________________[1]

15.  Add one square to the figure in the answer space to 

        make a figure which has a line of symmetry.                                                            [1]



16.  Solve the following equations:  a) 
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                                                                 Answers: a)____x = _____________[1]

                                                                                 b)____x =_____________[1]
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